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Geometria Analitica en exdmenes BI - NM

The vectors u , v are given by w=3i+ 5f, v=i-2j.

Find scalars a, b such that a(u +v)=8i+ (b -2) .

Find a vector equation of the line passing through (-1, 4) and (3, ~1). Give your answer in
the form r=p + td, where t € R .

In this question, the vector [:}J km represents a displacement due east, and the
0 :
veclor : km a displacement due north.

Two crews of workers are laying an underground cable in a north-south
direction across a desert. At 06:00 each crew sets out from their base camp
which is situated at the origin (0, 0) . One crew is in a Toyundai vehicle and the
other in a Chryssault vehicle.

The Toyundai has velocity vector [Li] km h', and the Chryssault has velocity

36 I
vector ) kmh .
~16

{a) Find the speed of each vehicle.
{b) (1) Find the position vectors of each vehicle at 06:30 .
(ii) Hence, or otherwise, find the distance between the vehicles at 06:30 .

(c) At this time (06:30) the Chryssault stops and its crew begin their day’s
work, laying cable m a northerly direction. The Toyundai continues
travelling in the same direction at the same speed until it is exactly north of
the Chryssault. The Toyundai crew then begin their day’s work, laying cable
in a southerly direction. At what time does the Toyundai crew begin laying
cable?

(d) Each crew lays an average of 800 m of cable in an hour. If they work non-
stop until their lunch break at 11:30, what is the distance between them at
this time?

(e} How long would the Toyundai take to return to base camp from its lunch-
time position, assuming it travelled in a straight line and with the same
average speed as on the morning journey? (Give your answer to the nearest
minute.)
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Nov 00

P1 The line I passes through the origin and is parallel to the vector 2i + 3j.
Write down a vector equation for L.

Nov 00 1

P2 In this question the vector [l}] km represents a displacement due east, and the

0 :
vector []J km represents a displacement due north.

The point (0, 0) is the position of Shipple Airport. The position vector r, of an
aircraft Air One is given by
16 12
r, = + ! A
12 -5

where ¢ 1s the time in minutes since 12:00 .
(a) Show that the Air One aircraft
(i) is 20 km from Shipple Airporr at 12:00 ;
(ii) has a speed of 13 km/min.
(b} Show that a cartesian equation of the path of Air One is:
Sx+12p=224

The position vector r, of an aircraft Air Two is given by

where ¢ is the time in minutes since 12:00 .
(¢c) Find the angle between the paths of the two aircraft.
(d) (i) Find a cartesian equation for the path of Air Two.
(i) Hence find the coordinates of the point where the two paths cross.

(e) Given that the two aircraft are flying at the same height, show that they do
not collide.
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Nov 00 The triangle ABC is defined by the following information

P1
— 2 _y 3 - — — 0
OA = [ ], AR = [‘J, AB-BC =0, AC is parallel to [J

(a) On the grid below, draw an accurate diagram of triangle ABC .

_}"JL | |

4

|
[ ]
i
L
=)
—
e
=3}
¥

{(b) Write down the vector D_I‘E.'.

Mayo 01

P2 In this question, a unit vector represents a displacement of | metre.

A miniature car moves in a straight line, starting at the point (2, 0).
After ¢ seconds, its position, (x ., ), is given by the vector equation

fﬂ.?]

[x 1'“2\'
{y]:lﬂJJ"f'l I

(a) How far from the point (0. 0) is the car after 2 seconds?

(b) Find the speed of the car.
(c) Obtain the equation of the car’s path in the form ax + by=c¢c.

Another miniature vehicle, a motorcycle, starts at the point (0, 2), and travels
in a straight line with constant speed. The equation of its path is

y=06x+2, x=0.
Eventually, the two miniature vehicles collide.
(d) Find the coordinates of the collision point.

(e) If the motorcycle left point (0, 2) at the same moment the car left point
(2, 0), find the speed of the motorcycle.
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:Alayo 01 The points P, Q have coordinates P(4, 0), Q(-5. 7).
Find the equation of the line which is perpendicular to (PQ) and passes through the point P .
Give your answer in the form ax + by + ¢=0. where a. b, and ¢ are integers.
:Al“y° 01 Find the angle between the following vectors @ and & . giving your answer to the nearest degree.
a=—4-2j
b=i—Tj
Ir::" 01 The diagram below shows the positions of towns O, A . B and X .

diagram
not to scale Town A is 240 km East and 70 km North of O .
Town B i1s 480 km East and 250 km North of O .

Town X is 339 km East and 238 km North of O.

An airplane flies at a constant speed of 300 km h™! from O towards A .

. . : L —= (096
(a) (1) Show that a unit vector in the direction of OA is sl -

(1i) Write down the velocity vector for the airplane in the form (Vj .
Vo

{iii) How long does it take for the airplane to reach A 7

At A the airplane changes direction so it now flies towards B. The angle
between the original direction and the new direction is @ as shown in the
following diagram. This diagram also shows the point Y, between A and B,
where the airplane comes closest to X .

diagram
not to scale

(b) Use the scalar product of two vectors to find the value of 0 in degrees.

s
(c) (i) Write down the vector AX .

(ii) Show that the vector n = ( 4} is perpendicular to A_ﬁ .

.
(iii) By finding the projection of AX in the direction of n. calculate the
distance XY .

(d) How far is the airplane from A when it reaches Y 7
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r;l:v 01 The diagram below shows a line passing through the points (1.3) and (6.5).
J’*
(6.5)
G
0 "
Find a vector equation for the line, giving your answer in the form
(x] X (ﬂ] + r(f] . where 1 is any real number.
¥ h d,
Nov 01 A trapezium is a gquadrilateral with two parallel sides. A trapezium ABCD is
P2 defined by four lines with the following equations

fx
Line I: (AB) r = []=

Line 2: (AD)

Line 3: (CD) r

Line 4: (BC) r

]
— — —_—

Lines | and 2 intersect at the point A(-8.3). and lines | and 4 at the point
B(12, 18). Lines 3 and 4 intersect at C. and lines 2 and 3 at D .

{a) Which two lines are parallel?

{b) Using the intervals —10sx =15 and 0= y= 25, draw a neat sketch
illustrating the four lines and the trapezium formed by them. Label the
vertices.

{c) (1) Write down the coordinates of C .

(i) Show algebraically that the coordinates of D are (-5, 14).

g
{d) The wvector —3i + 4 is perpendicular to AB. Use this fact to find the
projection of AD in the direction of -3/ + 4j.

{e) Calculate the area of the trapezium ABCD .
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Nov 01 . 2x X+
P1 The vectors ( ] and ( . ] are perpendicular for two values of x.
X — 5

(a) Write down the quadratic equation which the two values of x must satisfy.

(b} Find the two values of x .

:]1"" 01 A triangle has its vertices at A(—1,3). B(3. 6) and C(—4.4).

—= —=
(a) Calculate AB- AC.

(b) Find the cosine of angle A of the triangle.

Mayo 02 El diagrama a continuacién muestra los vectores AB ¥ AC .

P1
C
A B

Marque en el diagrama los siguientes puntos

{a} el punto D tal que AD =2AC :

(b) el punto P tal que A’P = Ai?: - At %

{c) el punto Q tal que A_‘Q es la proyeccidn del vector AC en la direccion de AB .
Mayo 02
P2 Tres de las coordenadas del paralelogramo STUV son S{-2,-2), T(7.7),

U(5,15) .
(a) Halle el vector ST y a partir de alli las coordenadas de V .

(b) Halle una ecuacion vectorial de la recta (UV) de la forma r= p + Ad donde
Ae R.

1
(c) Muestre que el punto E, de vector de posicidn [ ] estd sobre la recta (UV)
v halle el valor de A para este punto. 11

El punto W tiene vector de po@li:ldn[ ] ,conae R.

a

17

(d) (1) Si] Ei;'.,.f| =213, muestre que uno de los valores de a es —3 , y halle el
otro valor posible de a.

() Para a=-3, calcule el dngulo entre EW ¥ ET.
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Mayo 02

] Fl '1'- ] _2 | B |
P1 La ecuacidn vectorial de una recta es = 2 + ! 3 AE R
'r

Halle la ecuacion de esta recta que tiene la forma ax + by =¢ , donde a, b,y ce 7.

:’1"" 02 Calcule el angulo agudo entre las rectas de ecuaciones
4. (4 3. 4]
gh LHERSHL b
L 1 L4 el
Nov 02 : . L5
P2 En el diagrama a continuacion aparece el punto O de coordenadas (0, 0). el

punto A con vector de posicion a=12i+5j_ v el punto B con vector de
posicion b=6:i+8; . El angulo formado por (OA) v (OB) es &

VA

C diagrama no dibujado a escala

Halle
@ @ |af:
(1) un vector umitario en la direccion de b;

(i11) el valor exacto de cosf expresado como £ donde p.gEL.
g

El punto C es el pie de la perpendicular trazada desde A a (OB). El vector de
posicion de C esta dado por c.

(b) (1) Halle la proyeccion escalar de @ en la direccion de b.

(i1) Halle ¢ v exprese su respuesta en la forma 71 +#1j . donde se han
de hallar m v n.

(iii)
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Mayo 03
P1

Mayo 03
P1

Mayo 03
P2

Nov 03
P1

Las ecuaciones vectonales de dos rectas vienen dadas por
( w] _ ( 3'} ( —z'] ( 4)
H=|_ [T4 . K= +1t I
t 1, \\_2 \ 2 \ IJ
Las rectas se cortan en el punto P. Halle el vector de posicion de P.
Sean los vectores e=3i+4jvd =5—-12j .
(a) Calcule el producto escalar c-d .

(b) Calcule la proveccion escalar del vectore en la direccion del vector d .

s P o 10
En la figura aparece un paralelogramo OPQR. en el cual OP =(3 .0Q =:i. ¢ ]
\3) .
¥ A
P
sl
> _—Q
O e .l'r
R

(a) Halle el vector OR..
(b) Use el producto escalar de dos vectores para demostrar que

15

NS

{c) (1) Explique por qué cos PE}R =—Co0s Of’Q_

msﬂf’{]:—

. 23
(1) A partir de ello, demuestre que sen PQR = ﬁ

(1) Calcule el area del paralelogramo OPQR. expresando su respuesta
COMO Un MUNETo entero.

3
[Ina ecuacion vectorial de larecta Les r :[ \!+ r[ I

4) )

¢ Cudles de las siguientes son también ecuaciones vectoriales de la misma recta L?

v ) ) e A o
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Nov 03 : 60\ (30
P1 (a) Halle el producto escalar de los vectores |y i
25) 40 )

(b) Existen dos sefiales en los puntos P(60,25)y Q (-30,40). Un topografo que se
encuentra situado en O (0, 0) mira hacia la sefial en P. Halle el dngulo que debe girarse
para mirar hacia la sefial en ().

Nov 03 i o c
p2 Los puntos A, B v C sefialados en la siguiente figura son tres de lns.vemces

2
de un paralelogramo ABCD. El vector de posicion del punto A es [2 J

10+

h
T

(a) Escrba el vector de posicion de By el de C.

.
(b) El vector de posicion del punto D es [4 ] Halle d

.

(c) Halle BD.
Larectal pasapor B v D.
(d) (1) Escrnbauna ecuacion vectorial de L en la forma
x) (-1) (m“
|= | |+t J .
Lyz" 1‘ ?/ '\”/
(1) Calcule el valor de ¢ en el punto B.

(e) SeaP el punto (7. 3). Tras encontrar el valor de ¢ en P, compruebe que
P pertenece a larecta L.

(f) Compruebe que CPes perpendicular a B_f)_
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Mayo 04

4 -1
P2 Los vectores de posicidn de los puntos A y B son [ 3] y[

_}] respectivamente.

(a) (i) Halle el vector A__ii

(i) Halle |ABI.

(d
El vector de posicion del punto D es LZZJ'

(b) Halle el vector A_JE) en funcion de d.
Eldngulo BAD es de 90°.
{c) (i) Compruecbe que d=9.
(ii) Escriba el vector de posicion del punto D.
El cuadrilitero ABCD es un rectangulo.
(d) Halle el vector de posicion del punto C.

(e) Halle el drea del rectingulo ABCD.

Mayo 04

P2

A -3
The points A and B have the position vectors [ J ;md( ] respectively.

(a) () Find the vector AB.

(i) Find |ABI.

d

The point D has position vector {23).
(b) Find the vector A_j} in terms of d.
The angle BAD is 90°.
(c) (i) Showthatd=7.

(i) Write down the position vector of the point D.
The quadrilateral ABCD is a rectangle.
(d) Find the position vector of the point C.

(¢) Find the area of the rectangle ABCD.

Pdg. 10
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:,/;ayo 04 Dos rectas, L, y L, , tienen las siguientes ecuaciones vectoriales.
L:r=2i+3j+t(i-3))
L:r=i+2j+s(i-J)
El dngulo entre L, y L, es @. Halle el coseno del dngulo 4.
r:zov 04 Los puntos A. B v C tienen vectores de posicion 4i4+2j_ i—3j v —5i—3j. Sea
D un punto sobre el eje x tal que ABCD forma un paralelogramo.
(a) (1) Halle BC.
(11) Halle el vector de posicion de D.
— —
(b) Halle el angulo que forman BD y AC .
Larecta I, pasapor A yesparalelaa i +4j. Larecta L, pasa por B y es paralela
a 2i+7j. Una ecuacion vectorial de L, es r=(4i+2))+s(i +4j).
(c) Escrba una ecuacion vectonial de L, en la forma r=5b+1g.
(d) Lasrectas I, y L, se cortan en el punto P. Halle el vector de posicion de P.
Qqayo 05 Considere Ia recta L de ecuacién ¥+2x=3. Larecta I, es paralela a L y pasa por el punto (6. —4).
(a) Halle la pendiente de L.
(b) Halle la ecuacién de L, enla forma y=mx+b.
(c) Halle la abscisa. x. del punto donde la recta L, corta al eje x.
Mayo 05 3 5
P1 Halle el coseno del angulo comprendido entre los vectores [ ] ¥ [_ ]
4 1
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Mayo 05 1
P2 En esta pregunta el vector [D] representa un desplazamiento de 1 ki hacia el este,

0
v el vector [l ] representa un desplazamiento de 1 km hacia el norte.

La siguiente figura muestra la posicion de las cmdades A, B v C respecto a un
aeropuerto O, situado en el punto (0. 0). Un avion vuela sobre las tres cindades a una
velocidad constante de 250 kmh ™.

La ciudad A se encuentra a 600 km al oeste v 200 km al sur del aeropuerto.
La ciudad B se encuentra a 200 km al este v 400 km al norte del aeropuerto.
La ciudad C se encuentra a 1 200 km al este v 350 km al sur del aeropuerio.

(@) () Halle AB.
(1) Compruebe que el vector de longitud una nmdad en la direccion de A_j3
0.8
es [ 0 6]'

A las 12:00 h, un avion sobrevuela la ciudad A dingiéndose hacia la ciudad B a una
velocidad de 250 kmh ™

Sea { P ] el vector velocidad del avion. Seafel nimero de horas que permanece volando
g

apartir de las 12:00 h. La posicion del avion puede venir dada por la ecuacion vectonal

G

200
(b) (1) Compmebe que el vector velocidad es (1 50 ]
5

(i1) Halle la posicidn del avidon a las 13:00 b
(11) (A que hora sobrevolara el avion la ciudad B?

Cuando sobrevuela la ciudad B. el avion cambia su direccion para volar hacia la
ciudad C. Recorrer los 1250 km entre B v C le lleva cinco horas. Al sobrevolar la
ciudad A, el piloto observo que le quedaban 17 000 litros de combustible. El avion
consume 1800 litros de combustible por hora cuando viaja a 2350 kmh™ . Cuando el
combustible del deposito desciende por debajo de los 1000 litros. se enciende una
sefial luninosa.

(c) (A que distancia de la ciudad C se encontrara el avion cuando se encienda la
sefial luminosa?
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Nov 05 4
P1 A boat B moves with constant velocity along a straight line. Its velocity vector is given by v :[ ]

3
At time t =0 1t is at the pomnt (-2, 1).

(a) Find the magnitude of v.
(b) Find the coordinates of B when f=2.

(c) Write down a vector equation representing the position of B, giving vour answer in the
form r=a+1bh.

:]W 05 Consider the pomnt D with coordmates (4. 3). and the pomt E, with coordinates
2
(12.11).

(a) Find DE.

(b) Find |DE

(c) The pomnt D is the centre of a circle and E 1s on the circumference as
shown 1 the following diagram.

The pomnt G 1s also on the circumference. [.‘.TE 1s perpendicular to D_E} .
Find the possible coordinates of G.

Nov 05

P2 Car 1 moves in a straight line_ starting at point A{0,. 12). Its position p seconds

. A x 0 5
after 1t starts 15 given by = +p :
¥ 12 -3

(a) Find the position vector of the car after 2 seconds.

Car 2 moves in a straight line starting at pomnt B (14, 0). Its position g seconds

; e x 14 1
after 1t starts 1s given by = +q :
¥ 0 3

Cars 1 and 2 collide at pount P

(b (1) Find the value of p and the value of ¢ when the collision occurs.

(11) Find the coordinates of P.

Pdg. 13



IES Real Instituto de Jovellanos de Gijon Geometria Analitica en exdmenes BI - NM

Mayo 06
P2

El signiente diagrama muestra un cuerpo ABCDEFGH. G

Cada una de las seis caras es un paralelogramo.

A
Las coordenadas de Ay Bson A(7.-3.-3)_ B(17.2.3).

(a) Halle
@ AB:
i) |AB|.

Se proporciona la siguiente informacién.

AD-

Il
=

() () Calcule AD-AE
(i) Calcule AB-AD.
(iii) Calcule AB-AE .

(1v) A parir de lo anterior, escriba el tamafio del dngulo entre cualesquiera dos
aristas que se cortan.

(c) Calcule el volumen del cuerpo ABCDEFGH.

{d) Las coordenadas de G son (9. 4.12). Halle las coordenadas de H.

(e) Lasrectas (AG) v (HB) se cortan en el punto P

—

o
Dado que AG=| 7 |, halle el &ngulo agndoen P
7

[
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:Alayo 06  En el diagrama siguiente se muestran los puntos P(=2. 4). Q(3. 1) y R(l. 6).
-}J
M
R
P
\
= e
(a) Halle el vector P_E:! ;
{(b) Halle una ecuacion vectorial de la recta que pasa por R v es paralela a la recta (PQ).
ll;/\zayo 06 The position vector of pomnt A 1s 27/+3j+k and the position vector of pomt B
15 4i—-5j+21k.
(a) (1) Show that AB=27—8;+20k.
G} Eindfheunit vedborudathe dieciionof ATE:
(111) Show that u 15 perpendicular to D_.:'“-'L.
Let S be the nudpomnt of [AB]. The line L, passes through 5 and 1s parallel to OA .
(b) (1) Find the position vector of 5.
(1) Wnte down the equation of L,
The line L, has equation » = (31 +10j +10k) +s(=2i +5j - 3k).
(c) Explain why L, and L, are not parallel
{(d) The lines L. and L, intersect at the point P. Find the position vector of P.
1 1
Muestra

06 P1 A tniangle has its vertices at A(—1. 3) . B(3, 6) and C(—.4).

—

(a) Show that AB-AC=-9_

(b) Show that, to three sigmificant figures. cos BAC =—0.569 .

Pdg. 15
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Muestra The diagram shows a cube, OABCDEFG where the length of each edge 15 5cm.  Express the

06 P1 following vectors in terms of 7, jand k .
D
@ 0G:
3 E
(b) BD: g
(© EB.

FI‘:llov 06 The line I passes through the pomts A(3. 2. 1) and B(1. 5. 3).

—

(a) Find the vector AB.

(b) Wrte down a vector equation of the line L in the form r=a+rb

:w 06 The line L passes through A(0, 3) and B(1. 0). The onginis at O. The point R(x, 3—3x)
is on L_ and (OF) 1s perpendicular to L.
(a) Write down the vectors A_jﬂ and CTR.
(b) Use the scalar product to find the coordinates of B

;"Z“Y° 07 Points P and Q have position vectors —5i +11j—8% and —4i 49— 5% respectively,

and both lieon a line L, .

(2) () Find PQ.
(11) Hence show that the equation of L, can be written as
r=(—5+5)i+(11-25) j+(-8+3s)k.
The pomnt R (2. y,. z;) also lieson L, .
(b) Find the value of ), and of z,.
The line L, has equation r =2i +9j+13k +1(i +2j +3k) .
{(c) The lines L, and L, intersect at a point T. Find the position vector of T.

(d) Calculate the angle between the lines L, and L, .
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:/;ayo 9  Considere los vectores n=2i+3j—k v v=4i+j— pk.
(a) Sabiendo que u es perpendicular a v_ halle el valor de p.
(b) Sabiendo que g|w|=14 . halle el valor de g.

2"2“Y° 07 En esta pregunta. la distancia estd en metros v el tiempo en minutos.

Dos aeroplanos estan volando, ambos en linea recta.

A las 13:00 horas el primer aeroplano se encuentra en el punto (3, 2, 7). Suvector de

x 3 3
posicién transcurridos # minutos viene dadopor | v |=| 2 |+1#| 4
z 7 10

{a) Halle la velocidad de este aeroplano.

A las 13:00 horas el segundo aeroplano se encuentra en el punto (-3, 10,23).
Transcurridos dos mimutos, se encuentra en el punto (3, 16, 39).

(b) Compruebe que su vector de posicion transcurnidos f minutos viene dado por

x -5 4
¥ I=110 43 |
z 23 2

(¢) Los aeroplanos se encuentran en el punto Q.

(1) A qué hora se encuentran los aesroplanos?

(11) Halle la posicion de Q.

(d) Halle el angulo & que hay entre los caminos de los dos aeroplanos.

Pdg. 17
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r:; v 07 The diagram below shows a cuboid (rectangular solid) OJKLMNPQ. The vertex O
15(0,0.0),J15(6.0,0).K1s(6.0,10). M1s(0,.7.0) and Qs (0.7, 10).

Q(0,7, 10) P
|
|
L K(6, 0, 10)
1
I
I
I
I
I
w70 __Jy
0(0,0,0) 1(6,0,0)
L
(@ (@) Show that JQ=| 7
10
(i) Find MK .
0 6
(b) An equation for the line (MK)1s r=| 7 [+35| -7
o] |10

(1) Wrnte down an equation for the line (JQ) in the form r=a +1b

(1) Find the acute angle between (JQ) and (MEK).

(c) The lines (JQ) and (MEK) mtersect at D. Find the position vector of D.
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Mayo 08
P1

Mayo 08
P2

Mayo 08
P2

Consider the points A(1.5.4). B(3.1.2)and D(3. k. 2). with (AD) perpendicular to (AB).

(a) Find

—*

(1) AB:
(11) A_j} . EIVing your answer in terms of k.

(b) Show that k=7.

—>

The point C is such that BC= éAD

(c) Find the position vector of C.

(d) Find cos ABC.

let v=3i+4j+k and w=1+2j—3k_ The vector v+ pw 1s perpendicular to w.

Find the value of p.

The point O has coordinates (0. 0. 0). point A has coordinates (1. -2, 3) and pomnt B

has coordmnates (—3.4. 2).

—4
(a) (i) Show that AB=| 6
=
(i) Find BAO.
x -3

(b) The hne L, hasequation | y |=| 4 [+s| 6

z 2

Write down the coordinates of two points on L,

(c) The line L, passes through A and 1s parallel to OB.

(1) Find a vector equation for L, . giving vour answer in the form r=a+tb .

(1) Point C(k.—k,3) 1son L,. Find the coordinates of C.

x 3
(d) The line L, has equation | v |=| -8 [+ p| 2
z 0

Find the value of pat C.

. and passes through the pomt C.
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Mayo 08
p2 2 1 3 -1
The line L, is represented by », =| 5 [+5| 2 | and the line L, by r,=| -3 |+¢] 3
3 3 8 —4
The lines L, and L, intersect at point T. Find the coordinates of T.
:)A:/e;;m In this question, distance is in kilometers, time is in hours.
p2 A balloon is moving at a constant height with a speed of 18kmh™ . in the
i
direction of the vector | 4 |.
0

At time 7 =0 the balloon 1s at point B with coordinates (0.0_3).

(a) Show that the position vector b of the balloon at time ¢ 15 given by

o

x 0 ;"1{:_3'
b=|y|=|0 +r;§14.4 ;
=y '\5. L 0

At ttime f=0_ a helicopter goes to deliver a message to the balloon The
posttion vector /i of the helicopter at tume 7 15 given by

(b)Y (1) Wnte down the coordinates of the starting position of the helicopter.
{11) Find the speed of the helicopter.

(c) The helicopter reaches the balloon at point B
(1) Find the time the helicopter takes to reach the balloon.

Muestra

08 o1 Consider the points A(5.8). B(3.5) and C(8. 6).

(@ Find
G Al
() AC.

&) & Gl kBeAC

(i) | Fond e sine of the wngle betwesn, AB nd AC_
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Muestra
08 P1

Muestra
08 P2

Nov 08
P2

oy "1 (-6
Two lines [, and L, are given by : +s! 6 |and r, =| 20 +r]
\-6) \10) L3 L=g
(a) Let & be the acute angle between L, and L,. Show that cosf = 1420.

(b) (1) Pisthepomton I, when s=1. Find the position vector of P.

(1) Show thatPisalsoon L,.

(c) A third line L, has direction vector | x |. If I, and L, are parallel,
\—30,
find the value of x.

A tnangle has 1ts vertices at A(—1, 3) . B(3. 6) and C{—4. 4).
() Show that AB+AC=-9.

(b) Find BAC.

The diagram shows a parallelogram ABCD.

B diagram noi fo
scale

A

The coordinates of A, Band D are A(l, 2. 3), B(6. 4. 4) and D(2. 5. 3).
5

(a) (1) Show that AB=|2 |
1

() Find AD.

=3

{(111) Hence show that A_&' 5
3
(b) Find the coordinates of point C.
(©) () Find AB-AD.

(1) Hence find angle 4.

(d) Hence. or otherwise, find the area of the parallelogram.
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Nov 08
P1

Mayo 09
P1

Mayo 09
P1

Mayo 09

A particle 15 moving with a constant velocity along line L. Its initial position

15 A(6. —2_10). Afier one second the particle has moved to B(9. —6.15).

G 6 Eadihevilackyvecton: Al
(11) Find the speed of the particle.

(b) Write down an equation of the line L.

8
The line L, is parallel to the z-axis. The point P has position vector | 1 | and lies
on L. 0
(a)  Write down the equation of L, in the form r=a +1b.
2 2 6
The line L, has equation #=| 4 |+s| -1 |. The point A has position vector | 2 |.
-1 5 9

(b) Show that A lieson L,.

Let B be the point of intersection of lines L, and L,.
8

(c) (1) Showthat OB=| 1

14

(i) Find AB.

(d) ThepointCisat (2,1, —4). Let D be the point such that ABCD is a parallelogram.
Find OD.

Find the cosine of the angle between the two vectors 3i+4 7+ 5k and 41 -5j -3k,

2 5 9 -3
Two hines with equations . =| 3 |+s| 3| and r,=| 2 [4+¢#| 5 | intersect at the
-1 o 2 -1

point P. Find the coordinates of P.
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'I;l;ayo 09 The vertices of the triangle POR. are defined by the positicn vectors
4 £ 6
OP=|-3|.0Q=|-1|and OR=| -1 |.
1 2 5
(a) Find
@ PQ:
) PR
. 1
(b} Show that cosEPQ =E.
() (i) FindsinRPQ.
{ii) Hence, find the area of triangle PQE., giving your answer in the form a3
:];v 09 Consider the points P(2,—1_5) and Q(3.—3.8). Let L, be the line through P and ().
1
(a) Show that PQ=|-2 |
3
3 1
(t) The line I, may be represented by r=| -3 H-s5| -2 |
8 3
3
(1) What information does the vector | -3 | give about L,7
2
5
(1) Write down another vector representation for L, using | -3 |.
8
The point T(-1,5, p) lieson L,.
() Find the value of p.
X -3 1

The point T also lies on L, with equation | v |=] 9 [+i] -2 |

1
[ES]
(=]

(d) Show thatg=-3.

(e) Let & be the obtuse angle between L, and L, Calculate the size of &.
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Nov 09 . 3
P1 (@) Letm=| 3 |and w=|—1|. Given that u is perpendicular to w_ find the value of p.

(B) Let»=|9q | Given that |1' | = \."E. find the possible values of g.

3
Mayo 10 -
71 3 2
P1#10 The line L, 1s represented by the vector equation r=| -1 |+p| 1
-25 -8
A second line Z, 1s parallel to Z, and passes through the pomnt B(-8, -5, 25).
(a) Write down a vector equation for Z, in the form r=a +17b.
3 —7
A third line Z; 1s perpendicular to Z, and is represented by r=| 0 [+¢g| -2
3 k
(b) Show that £ =-2.
The lines L, and L, intersect at the point A.
(¢) Find the coordinates of A.
6
The lines L, and L, intersect at point C where BC = 3
—24
(d) (1) Find AB.
(1) Hence, find |AC|.
Mayo 10 6 )
TZ2 - =,
P1#t2 Sean AB=| -2 [y AC=| -3
3 2

(a) Halle BC.
(b) Halle un vector unitario en la direccidon de AB.

(¢) Compruebe que AB es perpendiculara AC.
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Mayo 10 £y esta pregunta, las distancias vienen dadas en metros.

TZ2
P2#9 , . , . L
Los aviones de juguete vuelan en linea recta y a velocidad constante. El Avién 1 pas
por un punto A. Su posicion, p segundos después de haber pasado por A, viene dac
X 3 —2
por|yv |[=| -4 [+p]| 3
z 0 1
(a) (1) Escriba las coordenadas de A.
(i) Halle la velocidad del avién en ms™.
(b) Después de siete segundos. el avion pasa por un punto B.
(1) Halle las coordenadas de B.
(11) Halle la distancia que ha recorrido el avidon durante estos siete segundos.
(¢) EIl Avién 2 pasa por un punto C. Su posicidn, ¢ segundos después de pasar
Y (2 -1
por C, vienedadapor | y [=| =5 [H¢q| 2 |.aeR.
z 8 a
El angulo que forman las direcciones de vuelo del Avion 1 y del Avion 2 es
de 40°. Halle los dos valores de a.
Nov 10
P2#4 2 k n
Seav=|-3 |y w=| -2 |, para £ >0. El angulo que forman v y w es ignala —.

6 4

Halle el valor de £.

Pdg. 25



IES Real Instituto de Jovellanos de Gijon Geometria Analitica en exdmenes BI - NM

Nov 10 La figura muestra un cuadrilatero ABCD de vértices A(l, 0), B(1.5). C(5. 2)

L
B
la figura no estd
dibujada a escala
C
A :.‘C
D

~ 4
(a) (1) Compruebe que AC =[2 ]

Gi) Halle BD.

(i1) Compruebe que A_)C es perpendicular a B_i).
La recta (AC) tiene por ecuaciéon r =u+sv .
(b) (1) Escriba el vector # y el vector v.

(11) Halle una ecuacion vectorial para la recta (BD).
Las rectas (AC) y (BD) se cortan en el punto P(3, k).
(c) Compruebe que kF=1.

(d) A partir de lo anterior halle el area del triangulo ACD.
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Mayo 11 9 1
TZ1
P1#2 A line L passes through A(1. —1. 2) and is parallel to the line r=| 1 |[+s| 3

5 —2

(a) Write down a vector equation for L in the form r =a+17b.

The line L passes through point P when r=2.

(b) Find
Q) OP:
Gi) |OP|.

Mayo 11 The following diagram shows the obtuse-angled triangle ABC such that
TZ1 ¢

P2#9 - 72 w [ 7
AB=| 0 [and AC=]| 2
—4 -6

S

T

o P

€ </ / diagram
\\/ nof to scale
B

(a) (i) Write down B_j& !
(i) Find BC.
(b) (i) Find cosABC.
(1) Heuce, [ind sin ABC.
A
The point D 1s such that C_i) =| 5 |, where p>0.
P

(¢) (1) Given that |CD|=+/50,show that p=3.

(11) Hence, show that CD is perpendicular to BC .
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Mayo 11 A TR T -
TZ2 T.a siguwiente fignura muestra el cuadrilatero ABCD, en el que AD=BC, ADB —tl ]
P1#3 . 14
y AC =
4
A
C
—7
/—
D= // g
/ la figura ne esid
/ dibujada a escala
/ s
Az{//’ B
5
(a) Halle BC.
- _2 i
(b) Compruebe que BD :[ 4 }

(¢) Compruebe que los vectores BD y AC son perpendiculares entre si.

Mayo 11 Larecta I, pasa por los puntos A(l, —1,4) y B(2, -2, 5).

P2#8 i
(a) Halle AB.

(b) Halle una ccuacion para Z, . de la forma r=a 1 b .

2 (2
La rceta L, tienc por ccuacion 7 =| 4 |15 |
7 3

hS

(c) Halle el angulo que forman Z; y Z,.

(d) Lasrectas L, y L, se cortan en el punto C. Halle las coordenadas de C.

Nov 11 T.arecta I, pasa porlospuntos P(2,4.8) v Q(4.5,4).
P1#8 1 l }. l ( ? ? ) S \( ? ? )

(@ () Halle PQ.

(11) A partir de lo anterior, escriba una ecuacién vectorial para L, que sea de
la forma r=a +sbh.

3p
Larecta L, es perpendiculara L.y paralelaa [ 2p |. donde peZ.
4

(b) (1) Halle el valor de p.

(1) Sabiendo que L, pasa por R(10, 6, —40), escriba una ecuacidn vectorial
para L, .

(¢c) Lasrectas L y L, se cortan en el punto A. Halle la coordenada x de A.
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:{;}lo 12 A line Z; passes though points P(—1, 6, —1) and Q(0,4,1).
P1#8
|
(a) (1) Show that PQ=|-2
2
(1) Hence, write down an equation for Z, in the form r=a+17b.
4 3
A second line L, has equation r=| 2 |[+s| 0
—1 —4
(b) Find the cosine of the angle between PQ and Z,.
(¢) The lmes Z, and L, mtersect at the pomnt R. Find the coordinates of R.
_l’“_‘;;° 12 14 siguiente figura muestra el ortoedro (solido rectangular) OABCDEFG, donde O es
P2#8 el origen, y OA =4i, OC=3j, OD=2k.
G F
|
|
D : -
|
@ B
O A

(@) (i) Halle OB.

(i) Halle OF.

(1) Compruebe que A_E} =—4i+3j+2k.
(b) Escriba una ecuacion vectorial para

(1) larecta OF;

(i) larecta AG.

(¢) Halle el angulo obtuso que forman las rectas OF y AG.
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Nov 12
P1#6 4
La recta L pasa por el punto (5, —4, 10) vy es paralela al vector | -2
5
(a) Escriba una ecuacién vectorial para la recta L.
(b) Larecta L corta al eje x en el punto P. Halle la coordenada x del P.
Nov 12 ;
P1#9 = 5 S 6
Sean A y B puntos tales que OA=|2 |y OB=|0|.
1 3
|
(a) Compruebe que AB=| -2 |.
B
Sean C y D puntos tales que ABCD sea un rectangulo.
4
(b) Sabiendo que AD=| p |, compruebe que p=3.
X\ 1 J
(¢) Halle las coordenadas del punto C.
(d) Halle el area del rectangulo ABCD.
Mayo 13
=1 _ 2 1
p1%1 Consider the vectors @ = and b= .
-3 4
(a) Find
(1) 2a+b:
(i) |2a+3|.

Let 2a+b+c¢ =0.where 0 1s the zero vector.

(b) Find c.
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Mayo 13
TZ1
P1#8

Mayo 13
TZ2
P2#4

Mayo 13
TZ2
P2#8

Consider points A(1,—2,-1), B(7,—4,3) and C(1,-2,3). The line L, passes
through C and is parallel to AB.

@ () TFind AB.

(11) Hence, write down a vector equation for Z, .

=ik 3
A second line, Z,,1s givenby r=| 2 |+s| -3 |.
\15 P

(b) Given that Z; 1s perpendicular to Z,., show that p =—6.

(¢) The line L, intersects the line L, at point Q. Find the x-coordinate of Q.

10 2
La recta L, tiene por ecuacion 7 =| 6 [+s| -5 y la recta L, tiene por
2 3 =1 —2
ecuacion r, =| 1 [+¢#[5
4 2

Las rectas L, y L, se cortan en el punto A. Halle las coordenadas de A.
Considere los puntos A(5,2,1), B(6,5,3),y C(7,6,a+1),donde acR.

(a) Halle
(i) AB:
i) AC.

Sea a el 4angulo que forman AB y AC.

(b) Halle el valor de a para el cual q = g

(¢) (1) Compruebe que cosq = _ 2a+14
| J14a2 +280

(1) A partir de lo anterior, halle el valor de a para el cual q =1,2.

Pdg. 31



IES Real Instituto de Jovellanos de Gijon Geometria Analitica en exdmenes BI - NM

NOV 13 s : - — — - 1 g
P1#1 En la siguiente figura, OP=p, OQ =¢q y PT = ;PQ :

P la figura no estd
dibujada a escala

s

O Q

Exprese cada uno de los siguientes vectores en funcion de p y ¢:

(@) QP:
(by OL.
Nov 13 11 (4 1 2
P2#9 . :
Considere lasteclas L y L, . cuyas ecuacionesson L:r=| 8 |+s| 3 |y L,:;r=| 1 |+/] 1
) -1 — i

Las rectas se cortan en el punto P
(a) Halle las coordenadas de P.

(b) Compruebe que las rectas son perpendiculares entre si.

(c) Elpunto Q(7,5,3) pertenece a L,. El punto R es el punto simétrico de Q respecto a
larecta Z,. Halle las coordenadas de R.

Muesti ; . it =
1 :es " Inthe following diagram, # = AB and v =BD.
P1#1

B

u EEHH
E T
A —C
The midpoint of AD 1s E and % = %

Express each of the following vectors in terms of # and v.

@) AE
®) EC
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Muestra Consider the lines Z,, Z,, L, and L, with respective equations.

14
Pas4 ¥) (1) (3 x) (1) (3
E: »|=]2 |82 L: |y|=|2|+p|2
z 3. | z 3 1)
X 0 -1 X —6 )
L vi=1.1 k3] 2 o y|=gq| 4
z 0 =i z 2
(a)  Wrile down the line which is parallel (o Z,.
(b)  Write down the position vector of the point of intersection of Z; and Z, .
(¢) Given that L, 1s perpendicular to Z;, find the value of a.
Mayo 14 3
TZ2 Larecta L es paralela al vector ( )
P14 2
(a) Halle la pendiente de la recta L.
La recta I pasa por el punto (9, 4).
(b) Halle la ecuacion de larecta L de la forma y=ax+5b.
(¢) Escriba una ecuacion vectorial para la recta L.
Mayo 14 En esta pregunta, las distancias vienen dadas en metros,
TZ2
P1#9 Ryan y Jack tienen aviones en miniatura (de aeromodelismo), que despegan en terreno llano.

El avién de Jack despega después del de Ryan.

La posicion del avion de Ryan ¢ segundos después dc despegar viene dada

5 —4
por r=|6 |+t 2
0 4

(a) Halle la celeridad del avion de Ryan.
(b)  Halle la altura del avién de Ryan al caho de dos segundos.

La posicion del avién de Jack s segundos después de despegar viene dada

-39 4"
por r=| 44 |+s| -6,
0 7,

()  Muestre que las trayectorias de los aviones son perpendiculares entre si.
Los dos aviones colisionan se chocan en el punto (-23, 20, 28) .

(d)  ¢Cuénto tiempo ha transcurrido desde que despegé el avién de Ryzn hasta que despeg el
avion de Jack?
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Mayo 14 The line L, passes through the points A(2,1, 4y and B(l, 1, 5).
TZ1

P1#8
-1

(a) Show that AB=| 0
1

(b) Hence, write down
(i) adirection vector for I ;

(ii) a vector equation for L.

4 0
Another line Z, has equation r=| 7 |+s|—1|. Thelines I, and L, intersect at the point P.
—4 1

(c) Find the coordinates of P,
(d) () Write down a direction vector for L, .
(ii) Hence, find the angle between L, and L,.

MOZ'O 14 The following diagram shows two perpendicular vectors # and v.
TZ

P1#8
u
12
(@) Let w=u—v. Represent w on the diagram above.
'y 5
(b) Giventhat u=|2 |and v=| n|, where neZ, find n.
1 3
Nov 14 B
P1#7
&

A

3 — —
Sean AB+-AC=-5+3 y [AB

AT}C‘ =10. Halle el area del triangulo ABC.
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Nov 14 (X% s
P1#10 Sea I, una familia de rectas cuya ecuacion viene dada por #=| 2 |+ r‘ Jq ‘ donde x>0.
ko) K
(a) Escriba la ecuacién de L.
Una recta [ corta al eje ¥ en un punto P.
| A
(b) Muestre que P tiene por coordenadas J 0. — ‘ !
. a)
Larecta L, cortaaleje x en Q(2a.0). Sea d =PQ’.
] , 16
(c) Muestre que d =4a +(:r_2‘
(d) Existe un valor minimo para . Halle el valor de ¢ que da este valor minimo.
Mayo 15 Aline L passes through points A(—2.4.3) and B(-1.3.1).
TZ1
P1#8 {
(@ (i) Showthat AB=| -1
-2

(i) Find ‘KB ‘

(b) Find a vector equation for L.

The following diagram shows the line L and the origin O. The point C alsolieson L.

A

0
Point C has position vector | »
-1

(c) Showthat v=2.
—+ —
(d) (i) Find OC<AB.
(i) Hence, write down the size of the angle between OC and L.

(e) Hence or otherwise, find the area of triangle OAB.
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Mayo 15  Las coordenadas de Py Q son (1,0, 2)y (11, 8, m) respectivamente.
TZ2

P1#9 =
(a) Exprese PQ en funcion de m.

1 -3
Sean a y b vectores perpendiculares, donde a=| 1 |y b=| 2

n 1

(b) Halle n.
(c) Sabiendo que PQ es paraleloa b,

(i) exprese PQ en funcion de b;
(i) a partir de lo anterior, halle m.
En el apartado (d), la distancia esta en metros y el tiempo esta en segundos.

(d) Una particula se mueve a lo largo de una linea recta que pasa por Q, de modo tal que
su posicion viene dada por r=c + fa.

(i)  Escriba un posible vector ¢.

(i) Halle la celeridad de la particula.
Mayo 15 gean u=6i+3j+6ky v=2i+2j+k.

TZ2

pa#2 (a) Halle
(i) wev;
(i) |al;

iy |v].

(b) Halle el angulo que forman u y v.

Nov 15 The following diagram shows the parallelogram ABCD.
P1#2
B &

A D

= —+
Let AB=p and AC=g. Find each of the following vectors in terms of p and/or gq.

(a) CB
(b) CD
(c) DB
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Nov 15 Aline L, passes through the points A(0,. -3, 1) and B(-2. 5. 3).
P1#9

|

A
8

-

(@ (i) Showthat AB=

(i)  Write down a vector equation for L, .

.-’_1\ 0 \
7 1
-4) (-]

Aline L, has equation r = +5 . Thelines L, and L, intersect at a point C.

A .

(b) Show that the coordinates of C are (-1.1.2).

(c) ApointD lies online L, so that

— — — -
CD|=+/18 and CA+CD=-9. Find ACD.

Mayo 16  Sean u=-3i+j+ k y v=mj+ nk, donde m, ne K. Sabiendo que v es un vector unitario

TZ2 perpendicular a u, halle los posibles valores de m y de n.
P1#7
1"{‘;? 16 Considere los puntos A(1,5,-7)y B(-9,9,-6).
P2#10 P
(a) Halle AB.
6
Sea C un punto tal que AC=| -4 |,
0

(b) Halle las coordenadas de C.
La recta L pasa por B y es paralela a (AC).

(c) Escriba una ecuacién vectorial para L.

(d) Sabiendo que , halle k.

AB‘=k‘Ab

(e) Elpunto D pertenece a I, de modo tal que Ab ‘ =‘ B_b) . Halle las posibles

coordenadas de D.

Nov 16 The position vectors of points Pand Q are i+ 2 — &k and 7/ + 37 — 4k respectively.
P1#4

(a) Find a vector equation of the line that passes through P and Q.

(b)  The line through P and Q is perpendicular to the vector 27 + nk. Find the value of ».
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Nov 16 _l" 4‘
P1#8

Let OA=| 0 | and OB =| |
4

L

@ () Find AB.

—

AB|.

(i)  Find

The point C is such that AC =

\l/

(b)  Show that the coordinates of C are (-2, 1. 3).

The following diagram shows triangle ABC. Lat D be a paint on [BC], with acute

angle ADC =4.
dlagram not to scale

A
/Ila

/// Illlllf

g
/ !F 6 S G
_.____________..-—
I D
BA__[__{.---"""'"-HF

(¢) Write down an expression in terms of & for
(i) angle ADB;
(i)  area of triangle ABD.

(d) Giventhat 22 AABD _ ;. powthat B2 _3

area AACD BC 4

(e) Hence or otherwise, find the coordinates of point D.
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